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‚ÂÍºÂ» : i) ‚Ê¢ÅW∑ £∑@πÂ›Â»ÂÈR ‚Â¢Ã¢å˘∆Â ‚ÂÍ∆ÂX Ã¬ŒÈ«Ò èâö«ÂQëY Œ⁄ÕÂÏ«Ò

•¢∑πÂ›Â»ÂÈR xÍ√Â£ÊπÂÈÕÂÏå‹Y.

ii) •ÕÂ‡ÂWê¬ÂÈÕÂ  ∑√  ©∆ÂO¬ÂπÂ›ÂëY ‚Â¢Ã¢å˘∆Â Ñ∆ÂX/¬ÒzÊÑ∆ÂX/ÆÂÈ¢√Â‹

Ã¬ŒÈå«ÂQëY Œ⁄ÕÂÏ«Ò •¢∑πÂ›Â»ÂÈR xÍ√Â£ÊπÂÈÕÂÏå‹Y.

ü̆ÊπÂ – A

I. ® x›ÂÇ»Â Ø£ÊY …ÂX‡RπÂúπ ©∆ÂOàö : 10 × 1 = 10

1. ≤¢«ÂÈ æ∆ ÕÂ≈¸πÂ›Â ≤¢«ÂÈ ÆÂ⁄«Â̆WÆÂÈ«Â êüÂ̆æ»Â ‚ÊÆÂÈ«˘̊ÂW¸ÕÂ»ÂÈR êÕÂàö.
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2. ÀÊX» Ỗ„ÊÀÂ¬ Ỗ êÕÂ∆Â̧ »ŒÈëY Œ⁄ÕÂ àËãŒÈ ∆Â¬Â¢πÊπÂXπÂ›Â»ÂÈR ©…ÂûÍËÇ‚ÂÈ∆ÊO¬ ?

3. «ÂÍ¬Â«Â‡Â̧ ∑«Â   …ÂÎ«˘̊Â∑@¬Â≈   ‚ÊÆÂÈ«˘̊ÂW¸ÕÂÏ   Œ⁄ÕÂÏ«Â¬Â   ÆÈË£   •ÕÂ‹¢è∆ÂÕÊÇ« ?

(Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ)

4. ÆÈÚx‹]»ÂR»Â ""ã¬ÂÈπÂÈ «Â…Â̧ ≈ …ÂXûÍËπÂ##å¢«Â ∑¢√ÂÈõâ«Â ü›ÂÄ»Â ÕÒπÂ«Â ÆÂ¤ı‹WÕÂ»ÂÈR

Ã¬íÈà.

5. ‚ÊPíÈ ê«ÂÈW∆ Ỗ»Â "πÊ‚ ỖÔ …ÂXÆÈËŒÈ#ÕÂ»ÂÈR ãúö.

6. 120 Ω ¬ÛË«˘Âê¬ÂÈÕÂ ¬ÛË«Â̆∑«Â Ã≈N«Â …ÂáJŒÈ»ÂÈR »ÂÆÂÈÍåö.

7. ≤¢«ÂÈ  yÊ¢∆Â  x\Ë∆ÂXx@  ‚ÂÆÂ⁄»Ê¢∆Â¬ÂÕÊÇ  ê«ÂÈW«ÊÕÒ‡ÂÕÂÏ  ºÂë‚ÂÈÕÊπÂ  •«Â¬Â

ÆÈË£ÊπÂÈÕÂ Ã‹«Â ÆÂ¤ı‹W ∞»ÂÈ ?

8. M.R.I. Ø¢«Â¬Ò»ÂÈ ?

9. ‘AND’ πÒ| Ỗ»Â ‚Ê¢xËã∑ Ñ∆ÂXÕÂ»ÂÈR Ã¬íÈà.

10. {£ Ỗ ( Gel ) π ≤¢«ÂÈ ©«Ê„Â¬Â} xÍâ.
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ü̆ÊπÂ – B

II. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ „Â∆ÂÈO …ÂX‡RπÂúπ ©∆ÂOàö : 10 × 2 = 20

11. ∆›ÂÈ …Ì¡J∑ Ø¢«Â¬Ò»ÂÈ ?  ∆›ÂÈ …Ì¡J∑«Â å∑S‹Y¡ ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR Ã¬íÈà.

12. ""„Â| Ỗ]¸## …ÂXûÍËπÂ«Â ÆÂÈ„Â∆ÂZÕÒ»ÂÈ ?  "ê«ÂÈW∆ ỖòË‹∆# ÆÂÈ∆ÂÈO "yÊ¢ãËŒÈ

ÕÊW…ÂW∆#ŒÈ»ÂÈR ≤›ÂπÛ¢â¬ÂÈÕÂ ü›ÂÄ»Â ÕÒπÂ«Â ‚ÂÍ∆ÂXÕÂ»ÂÈR Ã¬íÈà.

13. ≤¢«ÂÈ «ÂÍ¬Â«Â‡Â̧ ∑«Â •è˘«ÂÎ‡ÂW∑ ( Objective ) ÕÊW‚Â 1·2 êÈË. ÆÂÈ∆ÂÈO ©…ÂûÍËÇö«Â

ü›ÂÄ»Â ∆Â¬Â¢πÂ «ÂÍ¬Â 546 nm ¶«ÂëY, «ÂÍ¬Â«Â‡Â̧ ∑«Â "…ÂÎ«˘̊Â∑@¬Â≈ êÈã#ŒÈ»ÂÈR

∑¢√ÂÈõâíÈà.

14. «Â̆ÈXêË∑Î∆Â ÆÂÈ∆ÂÈO •«Â̆ÈXê∑Î∆Â ü›ÂÄ»Â ¬ÒzÊÑ∆ÂXÕÂ»ÂÈR Ã¬íÈà.

15. Ø¬Â√ÂÈ è¢«ÂÈ ê«ÂÈW«ÊÕÒ‡ÂπÂ›Â »Â√ÂÈê»Â ∑Í£Ê¢ü˜Ô Ã‹«Â ""‚Âå‡Â πÂä∆ÛËÄO##ŒÈ»ÂÈR

Ã¬«ÂÈ, êÕÂàö.

16. πÛËúËŒÈ ÕÊ„Â∑«Â «˘Ê¬Â∑∆ŒÈ»ÂÈR ç·ÂSãOö.

17. 0·2    ¶¢éŒÈ¬ Ỗ    ê«ÂÈW∆ Ỗ    …ÂXÕÂõ‚ÂÈÕÂ    ≤¢«ÂÈ    ê«ÂÈW∆ Ỗ    ∑ÈäxŒÈ   

êöOË≈¸ 20 × 10 – 4  ºÂ.êÈË. ¶Ç«. ∑ÈäxŒÈ»ÂÈR 4 × 10 – 2  T yÊ¢∆Â Ã‹ê¬ÂÈÕÂ

yÊ¢∆Â x\Ë∆ÂXx@ 60° xÍË»Â«ÂëY ßàö«. ® ê«ÂÈW∆ Ỗ ∑ÈäxŒÈ ÆÈË£ÊπÂÈÕÂ ü˘ÊXÆÂÈ∑

Ã‹ÕÂ»ÂÈR ( Torque ) ∑¢√ÂÈõâíÈà.
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18. ÀÊW¬Â√ŒÈ ê«ÂÈW∆Ê@¢ãËŒÈ …XË¬Â} çŒÈÆÂÈπÂ›Â»ÂÈR ãúö.

19. "©∆Â]æ¸»Â ¬ÛËõ∆Â# ÆÂÈ∆ÂÈO "õËàx ¬ÛËõ∆Â#«Â »Â√ÂÈê»Â ÕÂW∆ÊW‚ÂπÂ›Â»ÂÈR Ã¬íÈà.

20. "â-üÊXÇY# ∆Â¬Â¢πÊ¢∆Â¬Â«Â ‚ÂêÈË∑¬Â≈ÕÂ»ÂÈR ç·ÂSãOö.

21. «ÂXÕÂ ‚ÂTá∑πÂ›Â Ø¬Â√ÂÈ ©…ÂûÍËπÂπÂ›Â»ÂÈR ãúö.

22. £…ÊJ»˜ÔπÂ›ÂÈ ( Leptons ) Ø¢«Â¬Ò»ÂÈ ?  ≤¢«ÂÈ ©«Ê„Â¬Â} xÍâ.

ü̆ÊπÂ – C

III. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 5 = 5

23. "‹¢Ã …Â‹Y¡# Ø¢«Â¬Ò»ÂÈ ?  ≤¢«ÂÈ ÕÂ‚ÂÈOÕÂ»ÂÈR ‚Ê¢«ÂX ÆÂ⁄«Â̆WÆÂÈ«ÂëYàö ‹¢ÃÕÊÇ ê¬Â›Â

ÆÂ⁄«Â̆WÆÂÈå¢«Â êËÄ\ö«ÊπÂ ©¢|ÊπÂÈÕÂ ‹¢Ã …Â‹Y¡x@ πÂä∆ÛËÄOŒÈ»ÂÈR ç·ÂSãOö.

24. ü›ÂÄ»Â  ÕÂWãË∑¬Â≈  ∆Â∆ÂZÕÂ»ÂÈR  êÕÂàö.  ¬ÂºÂ»Ê∆ÂV∑  ÆÂÈ∆ÂÈO  •¬ÂºÂ»Ê∆ÂV∑  ÕÂWãË∑¬Â≈«Â

çÃ¢«Â̆»ŒÈ»ÂÈR •ÕÂ‚ÊP ÕÂW∆ÊW‚Â«Â ¬ÂÍ…Â«ÂëY ç·ÂSãOö.

IV. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

25. ê«ÂÈW∆ Ỗ …ÂXÕÂõ‚ÂÈÕÂ ÕÂ∆ÂÈ¸‹ ‚ÂÈ¬ÂÈúŒÈ •∑\«Â è¢«ÂÈê»ÂëY ©¢|ÊπÂÈÕÂ yÊ¢∆Â x\Ë∆ÂX«Â

πÂä∆ÛËÄOŒÈ»ÂÈR ç·ÂSãOö.
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26. "ê«ÂÈW∆ Ỗ …ÂàÕÂ∆Â̧ ∑#«Â çÆÂ⁄¸≈ ÆÂÈ∆ÂÈO yÊŒÈ¸ê«˘Ê»ÂÕÂ»ÂÈR êÕÂàö. …ÂàÕÂ∆Â̧ ∑

‚ÊÆÂÈ«˘̊ÂW¸ ÕÂWŒÈ«Â ≤¢«ÂÈ ¶∑¬ÂÕÂ»ÂÈR ãúö.

27. «ÂÈWãê«ÂÈW∆ Ỗ …Âà}ÊÆÂÈ«Â …ÊXûÍËÇ∑ …ÂàòË‹»πÂ›Â»ÂÈR êÕÂàö.

V. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

28. æ‹æ»Â∑  …Â¬ÂÆÂ⁄≈Èê»Â  ÆÍ«Â‹»ŒÈ  üÛË¬˜Ô  ∑x\ŒÈ  ãXæWx@  πÂä∆ÛËÄOŒÈ»ÂÈR

∑¢√ÂÈõâíÈà.

29. N = N 0  e
 – λt   ‚ÂÍ∆ÂXÕÂ»ÂÈR ç·ÂSãOö, ∑\ŒÈ çŒÈ∆Ê¢∑ÕÂ»ÂÈR ÕÊWzÊWçö.

30. i) ÕÊ„Â∑, •¬ÕÊ„Â∑ ÆÂÈ∆ÂÈO •ÕÊ„Â∑πÂ›Â»ÂÈR ∫Â§»Â …Â«Ê«˘̊Â̧ πÂ›Â ‡ÂÄO …ÂáJ ö«ÊQM¢∆Â«Â

ÆÂÈÍ‹∑ ÕÂÇË¸∑àö.

ii) »Úæ •¬ÕÊ„Â∑ ÆÂÈ∆ÂÈO üÊ„ÂW •¬ÕÊ„Â∑πÂ›ÂÈ Ø¢«Â¬Ò»ÂÈ ?

VI. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ÆÂÈÍ¬ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 3 × 5 = 15

31. ≤¢«ÂÈ πÊÜ»Â πÛË›Â«Û›Âπ ÆÈË£VÚíÈ¢«Â 0·04 êÈË. «ÂÍ¬Â«ÂëY ‚Â≈N πÊúŒÈ

πÂÈ›_íÈ«. „Û¬ÂÇç¢«Â »Ò¬ÂÕÊÇ »ÛËâ«ÊπÂ ÆÈË£VÚíÈ¢«Â 0·03 êÈË. «ÂÍ¬Â«ÂëY

yÊ≈È∆ÂO«. πÊÜ»Â ÕÂÄXËüÂ̆ÕÂ»Ê¢∑ 1·5 ¶«Â¬, πÛË›Â«Â ÕÂ∑X∆Ê ãXæWÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.
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32. 5 µC ÆÂÈ∆ÂÈO – 5 µC ê«ÂÈW«ÊÕÒ‡ÂπÂ›Â»ÂÈR 0·06 êÈË. «ÂÍ¬Â«ÂëY¬ÂÈÕÂ A ÆÂÈ∆ÂÈO B

è¢«ÂÈπÂ›ÂëYàö«. AB ÆÂÈ«˘ÂWè¢«ÂÈêç¢«Â ‹¢ÃÕÊÇ 0·04 êÈË. «ÂÍ¬Â«ÂëY¬ÂÈÕÂ P

è¢«ÂÈê»ÂëY ê«ÂÈW∆ Ỗ x\Ë∆ÂX«Â ãËÕÂX∆ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

33. 2 Ω ÆÂÈ∆ÂÈO 4 Ω ¬ÛË«˘Â∑πÂ›Â»ÂÈR ‡ÊzÊ Ã¢«Â̆«ÂëY {ÛËâö«. ÆÂÈ∆O¬Â√ÂÈ 3 Ω ÆÂÈ∆ÂÈO 6

Ω ¬ÛË«˘Â∑πÂ›Â»ÂÈR ‚Â„Â ‡ÊzÊ Ã¢«Â̆«ÂëY {ÛËâö«. ® Ø¬Â√ÂÈ {ÛË√Â}πÂ›Â»ÂÈR

‚Â¬ÂäŒÈëY     5 V, 0·7 Ω  ¶¢∆Âà∑ ¬ÛË«Â̆ê¬ÂÈÕÂ ê«ÂÈW∆ Ỗ xÍË‡Âx@ {ÛËâö«. 6 Ω

¬ÛË«Â̆∑«ÂëY „ÂàŒÈÈÕÂ ê«ÂÈW∆ÂO»ÂÈR ∑¢√ÂÈõâíÈà.

34. x›Âπ »ÂÆÂÈÍåö¬ÂÈÕÂ «Â∆ÊO¢‡ÂπÂ›Â»ÂÈR ©…ÂûÍËÇö õËëŒÈ¢ …Â¬ÂÆÂ⁄≈Èê»Â üÚÜ∑ Ã¢«̆Â∑

‡ÂÄOŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

õËëŒÈ¢ …Â¬ÂÆÂ⁄≈Èê»Â «ÂXÕÂW¬Êò =  4·00260 amu.

»ÂÍW|ÊXç»Â «ÂXÕÂW¬Êò =  1·008665 amu

…ÌX|Êç»Â «ÂXÕÂW¬Êò =  1·007825 amu

VII. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 5 = 5

35. …ÂXûÍËπÊ‹ŒÈ«ÂëY  |ÊW¢{¢| Ỗ  πÊW‹Z»ÛËÆÂ⁄…Â∑ÕÂ»ÂÈR  ©…ÂûÍËÇö  üÂ̆ÍêÈŒÈ

yÊ¢∆Â x\Ë∆ÂX«Â ‚ÂÆÂÈ∆Â‹ •¢πÂ ü˘ÊπÂÕÂ»ÂÈR ( ) B H    ∑¢√ÂÈõâŒÈÈÕÂ ê«˘Ê»ÂÕÂ»ÂÈR êÕÂàö.

36. ≤¢«ÂÈ ∆Â¢ã ‚ÂÈ¬ÂÈúŒÈ ‚ÂZ…XË¬Â∑∆ŒÈ»ÂÈR »Ò¬Â …ÂXÄXûÈŒÈëY ∑¢√ÂÈõâŒÈÈÕÂ …ÂXûÍËπÂÕÂ»ÂÈR

êÕÂàö.



7 Code No. 33-NS

36 [ Turn over

VIII. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 5 = 5

37. ≤¢«ÂÈ ÆÂÈ‚ÂÍ¬Â«Â ÕÂÄXËüÂ̆ÕÂ»Ê¢∑ÕÂ»ÂÈR ∑¢√ÂÈõâŒÈÈÕÂ …ÂXûÍËπÂ«ÂëY x›Â∑¢√Â êË∑\}πÂ›ÂÈ

‹è˘öÕ. ® êË∑\}πÂ›Â»ÂÈR ©…ÂûÍËÇö ‚Â¢πÂÆÂÈ «ÂÍ¬Â, ÕÂ∑X∆Ê ãXæWπÂ›ÂÈ ÆÂÈ∆ÂÈO

ÕÂÄXËüÂ̆ÕÂ»Ê¢∑ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà :

∑XÆÂÈ
‚Â¢zW

…Â¬Â«íÈ¢«Â ÕÂ‚ÂÈOê»Â «ÂÍ¬Â
(êÈË.)

ÆÂÈ‚ÂÍ¬Â«Â ‚ÊP»Â…Â‹Y¡ «ÂÍ¬Â
(êÈË.)

1 0·85 0·206

2 0·90 0·300

3 0·95 0·377

x 1   =  0·10 êÈË.

x 2   =  0·10 êÈË. Ø¢«ÂÈ xÍáJ«.

38. êÈË¡¬ Ỗ èX√ ỖG ‚Â„ÊŒÈå¢«Â êò·ÂJ ¬ÛË«Â̆ÕÂ»ÂÈR ∑¢√ÂÈõâŒÈÈÕÂ …ÂXûÍËπÂ«ÂëY x›Â∑¢√Â

êË∑\}πÂ›ÂÈ ‹è˘öÕ. ß«Â»ÂÈR ©…ÂûÍËÇö, ∆Â¢ãŒÈ ÕÂ‚ÂÈOê»Â êò·ÂJ ¬ÛË«Â̆ÕÂ»ÂÈR

∑¢√ÂÈõâíÈà.

∆Â¢ãŒÈ ©«ÂQ = 0·40 êÈË.

∆Â¢ãŒÈ ãXæW =  0·20 × 10 – 3  êÈË.

∑XÆÂÈ ‚Â¢zW Ã‹ ∑ÈúŒÈ ¬ÛË«Â̆ ( Ω ) ∆ÛË‹»Â ©«ÂQ (êÈË.)

1 2 0·428

2 3 0·333

3 4 0·272



Code No. 33-NS 8

36

ü̆ÊπÂ – D

IX. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 10 = 10

39. a) ≤¢«ÂÈ ‚ÂÆÂ⁄¢∆Â¬Â ÀÂ‹∑«˘Ê¬Â∑ÕÂ»ÂÈR ê«ÂÈW∆ Ỗ xÍË‡Âx@ {ÛËâö«ÊπÂ 20 µC

ê«ÂÈW«ÊÕÒ‡Â ‡Ò∏à‚ÂÈ∆ÂO«. ® «˘Ê¬Â∑ ÀÂ‹∑πÂ›Â ÆÂÈ«Â̆W«ÂëY ê«ÂÈWçR¬ÛË«Â̆∑ÕÂ»ÂÈR

‚Òàö«Â¬ 50 µC ê«ÂÈW«ÊÕÒ‡Â ‡Ò∏¬ÂÕÊπÂÈ∆ÂO«. ÆÂÈ«Â̆W ‚Òàö«Â ê«ÂÈWçR¬ÛË«Â̆∑«Â

çŒÈ∆Ê¢∑ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 4

b) i) ‚Â¢‚Â∑O ÆÂÈ∆ÂÈO •‚Â¢‚Â∑O ºÂ«ÂÈ¬ÂÈêx Ø¢«Â¬Ò»ÂÈ ?

ii) £Ò‚Â¬ Ỗ»Â Ø¬Â√ÂÈ ©…ÂûÍËπÂπÂ›Â»ÂÈR ãúö. 4

c) ‚ÂÆÂ⁄»Ê¢∆Â¬ÂÕÊÇ¬ÂÈÕÂ Ø¬Â√ÂÈ ê«ÂÈW∆ÂiÕÊ„Â ÕÊ„Â∑πÂ›Â »Â√ÂÈÕ ß¬ÂÈÕÂ Ã‹«Â

‚ÂÍ∆ÂXÕÂ»ÂÈR Ã¬«ÂÈ "¶¢éŒÈ¬ Ỗ# •»ÂÈR ÕÊWzÊWçö. 2

40. a) ‚Â∑@¬ «ÊXÕÂ≈«Â êò·ÂJ ü˘ÊXÆÂÈ∑ÕÂÏ 0·011 rad m 2  kg – 1  ¶Ç«. 0·15 êÈË.

©«ÂQ«Â ® ‚Â∑@¬ «ÊXÕÂ≈ 16° 30 l  πÂ›·ÂÈJ «ÂÈWãÄXŒ⁄òË‹∆ŒÈ»ÂÈR

©¢¡ÈÆÂ⁄â«Â¬ «ÊXÕÂ≈«Â ‚Ê¬ÂÕ·ÂÈJ ? 4

b) ê«ÂÈW∆ Ỗ {Ê‹πÂúπ ‚Â¢Ã¢å˘ö«Â ÄºÊ¸À Ỗ çŒÈÆÂÈπÂ›Â»ÂÈR Ã¬«ÂÈ, êÕÂàö. 4

c) …ÂŒ⁄¸ŒÈ  ê«ÂÈW∆ Ỗ»Â  ""¶ÕÂ∆Â̧   ‚Â¢zW##  ÆÂÈ∆ÂÈO  ""•ÕÂ‚P##  ( Phase ) ŒÈ»ÂÈR

êÕÂàö. 2
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( English Version )

Note : i) Numerical problems solved without writing the relevant

formulae carry no marks.

ii) Answers without relevant diagram / figure / circuit wherever

necessary will not carry any marks.

PART – A

I. Answer all of the following questions : 10 × 1 = 10

1. Define dispersive power of a medium for a pair of colours.

2. Which type of wavefront is used in Fraunhoffer diffraction ?

3. Mention any one factor on which resolving power of a telescope

depends.

4. What is the value of speed of light obtained in Michelson’s rotating

mirror experiment ?

5. State Gauss’ theorem in electrostatics.

6. Write the colour code for a resistor of resistance 120 Ω .
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7. What is the magnitude of the force exerted on a charge which is

moving along the direction of the magnetic field ?

8. What is M.R.I. ?

9. Write the circuit symbol of ‘AND’ gate.

10. Give an example of a gel.

PART – B

II. Answer any ten of the following questions : 10 × 2 = 20

11. What is a thin prism ? Write the expression for deviation produced

by a thin prism.

12. Mention the significance of Hertz’s experiment and write the

expression for speed of light in vacuum in terms of permeability and

permittivity.

13. The diameter of the objective of a telescope is 1·2 m. If the

wavelength of light used is 546 nm, calculate the limit of resolution of

telescope.

14. Give the representation of plane polarised and unpolarised light.
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15. Write the expression for Coulomb force between two point charges

separated by a distance in vector form and explain the terms.

16. Obtain the expression for capacity of a spherical conductor.

17. A current loop of area 20 × 10 – 4  m 2  carrying a current of

0·2 ampere is placed at an angle of 60° with a magnetic field of

strength 4 × 10 – 2  T. Calculate the torque exerted on it.

18. State Faraday’s laws of electromagnetic induction.

19. Distinguish between emission and absorption spectra.

20. Arrive at the expression for de-Broglie wavelength.

21. Give any two applications of liquid crystals.

22. What are leptons ? Give an example.

PART – C

III. Answer any one of the following questions : 1 × 5 = 5

23. What is ‘normal shift’ ? Obtain an expression for the normal shift

produced, when an object in a denser medium is viewed normally

through air.
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24. Give the theory of interference of light and hence arrive at the

condition for constructive and destructive interference in terms of

phase difference.

IV. Answer any two of the following questions : 2 × 5 = 10

25. Derive the expression for magnetic field at any point on the axis of a

circular coil carrying current.

26. Give the construction and working of a transformer. Mention any one

source of power loss in transformer.

27. Explain the experimental observations of photoelectric effect.

V. Answer any two of the following questions : 2 × 5 = 10

28. Arrive at the expression for radius of first Bohr orbit of hydrogen like

atom.

29. Derive N = N 0  e
 – λt . Hence define decay constant.

30. i) Classify conductors, semiconductors and insulators based on

band theory of solids.

ii) What are intrinsic and extrinsic semiconductors ?
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VI. Answer any three of the following questions : 3 × 5 = 15

31. A small air bubble is found 0·04 m inside the glass sphere of

refractive index 1·5. When viewed normally from outside it is seen at

a depth of 0·03 m. Caculate the radius of curvature of glass sphere.

32. Two charges 5 µC and – 5 µC are placed at points A and B, which

are separated by a distance of 0·06 m. Find the electric field

intensity at a point P on the perpendicular bisector of AB at a

distance of 0·04 m from its middle point.

33. Two resistors of resistances 2 Ω and 4 Ω are connected in parallel.

Two more resistors 3 Ω and 6 Ω are also connected in parallel. These

two combinations are in series with a battery of e.m.f. 5 V and

internal resistance 0·7 Ω . Calculate the current through 6 Ω resistor.

34. Calculate the binding energy of an alpha particle from the following

data and express it in MeV.

Mass of helium atom =  4·00260 amu

Mass of neutron  =  1·008665 amu

Mass of proton =  1·007825 amu.
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VII. Answer any one of the following questions : 1 × 5 = 5

35. Describe an experiment to determine the horizontal component of

Earth’s field ( ) B H    using Tangent galvanometer.

36. Explain how to determine experimentally the self-inductance of a coil

by direct method.

VIII. Answer any one of the following questions : 1 × 5 = 5

37. The following readings were observed while determining the

refractive index of the material of convex lens. Calculate refractive

index by finding ‘focal length’ by ‘shift method’ and radii of curvatures

using Boy’s method :

Sl. No. Distance between

screen and object ( m )

Shift in the position of

lens ( m )

1 0·85 0·206

2 0·90 0·300

3 0·95 0·377

Given x 1   =  0·10 m

x 2   =  0·10 m.
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38. Calculate the resistivity of the given material of wire using the

following data obtained in meter bridge experiment.

The length of the wire = 0·40 m.

The radius of the wire  =  0·20 × 10 – 3  m.

Sl. No. Resistance unplugged

in right gap ( Ω )

Balancing length

( m )

1 2 0·428

2 3 0·333

3 4 0·272

PART – D

IX. Answer any one of the following questions : 1 × 10 = 10

39. a) Parallel plate capacitor stores 20 µC charge when connected

across a battery. When the gap between the plates is filled with

a dielectric, it stores 50 µC of charge. Calculate the dielectric

constant of the material inserted. 4

b) i) What are coherent scattering and incoherent scattering ?

ii) Mention any two applications of LASERs. 4

c) Define ‘ampere’ by writing the expression for force between two

parallel conductors carrying currents. 2
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40. a) It is found that a solution of cane sugar of length 0·15 m rotates

the plane of polarisation through 16° 30 l . If the specific

rotation of cane sugar is 0·011 rad m 2  kg – 1 , calculate the

concentration of the solution. 4

b) State and explain Kirchhoff ’s laws for electrical network. 4

c) Define ‘phase’ and ‘frequency’ of A.C. 2

                  


